

Divide by 10^{-1} (E)

Find each quotient.

$1,4 : 10^{-1} =$

$9,6603 : 10^{-1} =$

$7,9 : 10^{-1} =$

$5,4 : 10^{-1} =$

$1,54 : 10^{-1} =$

$5,3 : 10^{-1} =$

$5,7 : 10^{-1} =$

$4,1 : 10^{-1} =$

$6,279 : 10^{-1} =$

$7,25 : 10^{-1} =$

$2,445 : 10^{-1} =$

$8,06 : 10^{-1} =$

$1,5529 : 10^{-1} =$

$3,8722 : 10^{-1} =$

$4,06 : 10^{-1} =$

$3,6355 : 10^{-1} =$

$8,557 : 10^{-1} =$

$0,28 : 10^{-1} =$

$9,3766 : 10^{-1} =$

$1,9 : 10^{-1} =$

Divide by 10^{-1} (E) Answers

Find each quotient.

$$1,4 : 10^{-1} = 14$$

$$9,6603 : 10^{-1} = 96,603$$

$$7,9 : 10^{-1} = 79$$

$$5,4 : 10^{-1} = 54$$

$$1,54 : 10^{-1} = 15,4$$

$$5,3 : 10^{-1} = 53$$

$$5,7 : 10^{-1} = 57$$

$$4,1 : 10^{-1} = 41$$

$$6,279 : 10^{-1} = 62,79$$

$$7,25 : 10^{-1} = 72,5$$

$$2,445 : 10^{-1} = 24,45$$

$$8,06 : 10^{-1} = 80,6$$

$$1,5529 : 10^{-1} = 15,529$$

$$3,8722 : 10^{-1} = 38,722$$

$$4,06 : 10^{-1} = 40,6$$

$$3,6355 : 10^{-1} = 36,355$$

$$8,557 : 10^{-1} = 85,57$$

$$0,28 : 10^{-1} = 2,8$$

$$9,3766 : 10^{-1} = 93,766$$

$$1,9 : 10^{-1} = 19$$